Chapter 1

	1.3
	pg. 21 

5. a=7/2     14. w=-6     17. h=2A/b     22. h=V/pir^2     23. x=c/(a+b) 

28. x=(5g/2)-1     31. 4.5x7.5    34. 7.5, 10, 12.5     36. 46/39     40. 30 

43. r2=Rr1/(r1-R)     44. h=(S-2pir^2)/2pir     55. x=ab-b^2-a 

57. x=(b+d)/(c-a)      61. x=(4a-3bc)/(aq-5bp)     

65. a) (s-1055)/1.1   b) 40.9   c) C=5/9(F-32)   d) 4.9     
66. a) 10 cows, 30 chickens    b) 80 legs, 20 legs, 2 legs, 10 cows

	1.4
	pg. 29 

6. y < -6    9. N>8    10. All reals   14. W<11.5     15. <21     17. 40 

24. x > -8     26. Between 36.4 and 45.5     32. X<42     33. No solutions 34. All reals      38. Between 204,00 and 254,000     41. -1<x<8 

44. -7 < z < 22/5       46. B<2 or b>5    50. No solutions

	1.5
	pg. 36 

5. no solution    7. -18, 10    15. 1    19. All reals     25. No solution 

31. ?    37. -1/3     38. No solutions     41. -1, -3     42. -71/36 
44.  -6 < x < 26/3      45. x < -8 or x > 5      46. All reals 

47. t<-3/2 or t>2     50. x < -8.4 or x > 9.6  52. -5<x<11


Chapter 2

	2.1
	pg. 60 

36. ?   37. ?   38. ?    39.?     40. ?    41.?    42. ?   43. ?    44. ?    45. ? 46. 2460.375     48. No    50. -3     51. -2/3     53. 7     54. 3/4

	2.2
	pg. 68

26. y-3=-1(x+10)   28. Y-10=(-5/2)(x+4)    38. Y=-3x-5     39.  Y=(5/2)x+(13/2)     40. ?     41. ?      43. Use slope and y-int    

45. Use x and y int  or y=(2/3)x-4   47. Use x and y int  or y=(4/3)x+2

49. x-int=6, y-int=2     51. ?    53. ?     55. ?     57. ?     59. ?    

61. slope=r/s     63. -5/13     65. -7/10     66. ?    67. ?    73. Y=(5/6)(x+4)   

74. y=(-3/2)x-1     75. 3x-2y=2     76. 9x+3y=2

	2.4
	pg. 81 

2. y=-50t+1000    3. H=8x+60     4. 5 leaves   5. 3.25 lb     6. 172    

 7. $8.40    12. B) 40    13. B) 2930 or 3021 (answer may vary)    

15. Y=-4x+10    16. Y=-3x-6     

17. Y=-7.5x-2.5    

20. b) 14.3   c) 200 Calorie is not reasonable

	2.3
	pg. 74 

13. no     14. K=-5    15. K=6    16. No     23. A) k=13/26   c) 23 ft 1 in

28. k=2/3     29. Non    30. No     31. K=1.3    32. 682      41. 9    42. 6 43. 90      44. -140     52. B) 103.6   c) 417.9   d) $.056 per mile

	2.5/2.6
	pg. 91 

40. (-inf, 0]    42.  ?     46. ?      48. ?

pg. 97 

5. ?   6. ?    7.  ?    23. ?    27. ?     35. ?     37. ?     42. ?    43. ?    54. ? 56. ?

	2.7
	pg. 104 

1. slope=2, y-int=1    3. X-int=0     15. Left 2, up 7     

17. Right 4,  down 3    23. X-int=-2, y-int=5     24. X-int=-5, y-int=2 

26. x-int=4, y-int=6      30. Right 1, down 7     36. ?   38. ?     39. ?   40. ? 42. ?


Chapter 3

	3.1/3.2
	pg. 120 

1. (3, 1)    3. (-2, 4)    13. Infinitely many    16. One solution 

19. infinitely many solutions     22. No solution

pg. 128 

6. (8, -1)    14. 3 vans, 2 sedans or 4 vans, 1 sedan or 5 vans and 0 sedans    15. a) ?  b) 58      30. Infinitely many    38. (4, 1) 

40. no solution      56. ?    57. ?

	3.6
	pg. 157 

20. 24,500; 14,400: 10,100     21. 50 nickels, 10 dimes, 15 quarters 

22. ?    23. ?    24. ?     27. (1/2, 2,-3)     29. No solution   

37. (2, 10/3, 5/3)

	3.3
	pg. 136 

9. ?    15. ?   16. ?  17. ?    23. ?   24. ?   30. ?   31. ?   35. ?   44. ? 45. ?

	3.4
	pg. 142 

9. max at (6,2)    11. 70 spruce, 0 maple    14.  Max at (1, 4)

17. max at (0, 200)    20. 3 corn, 2 bran   23. varied


Chapter 5

	5.1
	pg. 241 

6.  ?     7. ?     8. ?    24. 
[image: image1.wmf]     26. 
[image: image2.wmf] 

28. ?    29. ?     31. A) 
[image: image3.wmf]   C)1992   d) never 

33. 8    36. 25/4     

38. A) y=3.157x-52.34  b) 
[image: image4.wmf] 

40. ?    43. ?

	5.2
	pg. 248 

7. V: (0,3)   8. V: (0-3)    13. Axis at -3    15. Axis at -1    17. Axis at -1 

28. $10, max revenue = $13,500      29. 2 sec, max height = 64 ft.

37. ?  38. ?   39. ?    41.  2.25 by 2.25    46. -2     47. 2   52. a)  b)  

59. 
[image: image5.wmf]     60. 
[image: image6.wmf]

	5.3
	pg. 255 

3. x=2    6. X=2     7. X=5     15. Y=-(x-2)^2    19. Y=6(x+3)^2-2 

23. (-5.5,0), 726     25. (4, -25), -41     29. Same    

42. B) $277.50, $210   c) $.55   d) $300   43. Y=-7(x-1)^2+2 

45. y=-1/2(x+3)^2+6     51. 
[image: image7.wmf]    53. 
[image: image8.wmf]

	5.4 
	pg. 263 

9. ?  12. ?   15. ?   18. ?   21. ?   24. ?  27-48(multiples of 3), 54. ?   57. ? 60. ?   63.  ?   71. ?

	
	Graphing from Factored Form Worksheet

	5.5
	pg. 270 

1. -4, -2     5. -2, -1    7. -4, 4    11. 
[image: image9.wmf]    14. -2/3, 0    18. 
[image: image10.wmf] 19. A) 6.61   b) 6.89    23. -1.67, -1.5    26. -.59, 2.26     35. 3 feet 
36. -10, 4    39. -1.2, 3     42. -4, 5/2     45. -3.58, 3.58    48. -5, 3 

51. x=-6, 0     65. a) 100 ft.   b) 5 sec

	5.6
	pg. 278 

1. ?   5. ?    30. ?    33. 10+6i    35. 10    40. 65+72i    41. 5i, -5i    

50. 
[image: image11.wmf]    51. 7i, -7i    52. I, -I    56. -5, 5     57. 288i     58. -1+5i 

61. 11-5i     63. 7-i    65. -27+8i

	5.7
	pg. 285 

7. ?   10. ?   13. -4, 7     16. 1+i, 1-i   23. 
[image: image12.wmf]     27. -3/2, ½  

28. 
[image: image13.wmf]      29. Y=-(x-2)^2+3     35. Y=1/2(x-5)^2-1/2 

39. a) (59, 36.81)   c) 7.65   d) 120     40. 10, -10    43. -16, 16

	5.8
	pg. 293 

3. -7/2, 1    13. 
[image: image14.wmf]     26. -1.24, 1.38    

29. 
[image: image15.wmf]      33. Discriminant = 0

34. -223    35. 169     41. 1, 10     44. -3.45, 1.45     47. -7, 7    58. ?  

59. ?   60. ?


Chapter 6

	6.1
	pg. 310 

25. ?   26. ?   27. ?    28. ?     29. ?    30. ?    31. ?  35. Trinomial     

41. Poly of 4 Terms      46. 8x^3+2x^2     50. X^3-6x^2+12x-8 

51. x^4+2x^2+1    55. 12s^3+61s^2+68s-21
pg. 312 

1. ?  3. ?    5. ?   7. ?   9. ?

Some nearby answers on pg. 312:

2. (down, up)        8. (up, up)        10. (up, down)

	6.2
	pg. 317 

15. 194 cubic inches   38. B) 8x^2+24x+10    39. 12x^3-27x     40. D) 4.06 41. Y=-2x^3+9x^2-x-12     43. ?    45. ?    47. ?   48. Max=.9: min=-6.9, -1.4: x=0, -3, -1, 1    51. Y=x^3-3x^2-10x     52. Y=x^3-21x^2+147x-343 54. ?   55. ?    56. ?
factor by grouping, find zeros, and state multiplicity of


[image: image16.wmf]

[image: image17.wmf]

	6.4
	pg. 331

33. 3.24, -1, -1.24    39. -1.04, 0, 6.04     40. 5, 6, 7    42. -6/5, 
[image: image18.wmf] 43. 4/3, 
[image: image19.wmf]      44. 
[image: image20.wmf]      47. 0, 2, -2, 1, -1 

49. 0, 
[image: image21.wmf]     51. 0, 
[image: image22.wmf]     53. 
[image: image23.wmf]       54. -3, -2, 2

58. 
[image: image24.wmf], i, -i     62. 5 meters

	6.3
	pg. 324 

17. x^2-x-6    21. 
[image: image25.wmf]      23. 
[image: image26.wmf]      28. 0   31. 10 34. ?      37. X^2+4x+5      41. X^3-x^2+1     46. No    47. Yes   

55. x^3-4x^2+x     64. 1, -1, 7

	6.5
	pg. 339 

1. 1     4. None      23. 
[image: image27.wmf]     25. ½, 3/2, 2/3     

27. 1/3, -7/2, 1, 3       29. 
[image: image28.wmf] 

30. 
[image: image29.wmf]      37. ?     38. ?     44. ?     45. ?     
47. 
[image: image30.wmf]

	6.6
	pg. 343 

17.  real=0, 2, or 4    19. Real=1 or 3  21. 4, 3i, -3i    22. -2, 
[image: image31.wmf]    25. ½, 
[image: image32.wmf]    28. .75, -.75,   
32. ?    33. ?    34. ?    35. ?     36. ?   37. ?


	7.0
	pg. 368 

2. 8   4. 
[image: image33.wmf]    6. 
[image: image34.wmf]     8. 
[image: image35.wmf]    10. ?   12. 8x^8    14. X^7    

16. 2x^2    18. -5x^3     20. 3x^2    22. 
[image: image36.wmf]     24. r^2s^3t^2

	7.1
	pg. 372 

34. 1, -1   35. .5, -.5    36. 2/3, -2/3     38. a) 35 ft.  b) 20 ft.    39. .5 41. .2    43. 2c   45. 
[image: image37.wmf]   47. –y^4    49. –k^3    51. (x+1)^2    53. X^2     70-73?

	7.2
	pg. 377 

37. 
[image: image38.wmf]    39. 
[image: image39.wmf]   41. 
[image: image40.wmf]    43. 
[image: image41.wmf]     45. 
[image: image42.wmf]
47. 
[image: image43.wmf]    49. 
[image: image44.wmf]    51. 
[image: image45.wmf]     53. 212 greater   57. ?    61. 2xy 

65. 
[image: image46.wmf]

	7.3
	pg. 383 

27. 
[image: image47.wmf]   29. -
[image: image48.wmf]    31. 
[image: image49.wmf]    33. 
[image: image50.wmf]    35. 
[image: image51.wmf]
37. 
[image: image52.wmf]    39. 
[image: image53.wmf]    41. 
[image: image54.wmf]   43. 
[image: image55.wmf]

	7.4
	pg. 388 

39. 1/x^4    41. 5/x^(2/3)    43. -2y^3    45. X^(13/3)   47. Y^2/x^8

49. y^5/x^10      50. -7   52. 64   54. 2,097,152    56. ¼    58. 1/36 

60. -1/81     65. X^(1/2)    67. X^(1/2)    69. X^(1/6)y^(1/4)   

71. 
[image: image56.wmf]    73. 1/x^(13/36)     75. 1/x^(1/3)     81. 49    84. 1    86. 9

	7.5
	pg. 394 

1. 16     5. 23     7. 3, -13     11. 8    13. 30.6 ft.    15. 3     17. -3, -4 

19. 1    21. 3     25. 2      27. 5     53. 1    61. 5/4 or 1.25

	7.8
	pg. 417 

17. ?     21. ?    32. 
[image: image57.wmf]    43, all reals    44. X>1, y>3 

45.  all reals    49. X>-5, y<-1     53. a) x>2, y>-2  b) (2, -2)   

54. ?     63. b) 20 in.

	7.6
	pg. 400 

43. c) 14,200 d) 14.400    45. X^2-x+7    47. X^2-5x-3    48. -2x^2+8x+1 51. -3x^2+2x+16     52. 3x^2-12      54. -9x^3-24x^2+12x+48 

55. ?     59. -4     61. 2      65. 12x^2+2, 6x^2+4     66. X-3, x-6 

71. b) 157,850      73. X^2+3x-1    74. –x^2+3x-3     75. 3x^2+1 

76. d) no    81. 1/x     83. 2

	7.7
	pg. 410 

    30. b) 20.29     31. ?   32. ?   35. 
[image: image58.wmf]    37. 
[image: image59.wmf]   

40. 
[image: image60.wmf]         44. 25, 6.25 
45. ?     49.  3-x^2   55. 
[image: image61.wmf]    63. 
[image: image62.wmf]    64. X^3+5     68. 
[image: image63.wmf]


	8.1
	Pg. 434

9.  a) 1.0126     13. y=5(.6)^x    14. y=3(1/2)^x    20.  ?     21. ?      22. ?     23. ?    35. b) $4091.25        39. 70%     40. 87.5%  41. 75%    42.  D      44. a)  Car 1 is $520, Car 2 is $675 approximately

54.  ?  57. ?     58. ?

	8.2
	Pg. 442

5. ?   9. Y=5 asymptote   11. ?      15. .81 mg     16.  .43 mg  

27.  ?     28. ?       30. $6168.41     

32.  Y-intercept = 4, decays by one half     

33.  Y-intercept=-1, next point at (1, -3), growing by 3

34. y-intercept=1/2, next point at (1, 1), growing by 2  

35. y-intercept=-2, next point (1, -1), decaying by 1/3  

36.  75.04 m      39. Becomes 19.04 trillion  41. $399.97

44. ?  45. ?    46. ?    47. ?

	8.3
	Pg. 449

18. ?    19. ?    20. ?     21. ?     22. ?    23. ?   24. ?     25. ?   

37. D: (0, inf)  R: all reals    38. D: (0, inf) R: all real  

39. D: (2, inf)  R: all reals    40. D: (5, inf)  R: all real 

51. ?     53. ?   54. ?    55. ?    56. ?    57. ?    63. (.25)^-x   90. a) ii

Pg. 472

37. 1     38. 83

	8.4
	Pg. 457

15. 
[image: image64.wmf]   18. 
[image: image65.wmf]    22. Log3 + 4logm – 2logn   

25. 
[image: image66.wmf]    27. (1/2)log2 + (1/2)logx – (1/2)logy 

36. 2     37. 2     38. 1     39. 1     40. -2     41. 1    73. 
[image: image67.wmf] 

74. 
[image: image68.wmf]     75. Log(27/2)      76. 
[image: image69.wmf]    

79. log8 + (3/2)logx – log125     80. 3logm – 4logn + 2logp 

81. log 4 + (1/2)logr - logs

Pg. 472

1. ln125    6. Ln1    7. 
[image: image70.wmf]     8. 
[image: image71.wmf]     9. 
[image: image72.wmf]

	8.5
	Pg. 464

5. 3    9. .3579      25. 3.1699, log8729      

29. 3.1827, log8748.56      36. 10,000     39. 3.1623     42. 3x108 72. ?     73. ?     74. ?      79. 2.9315      81. .6225      83. 2.3094 
94. 114.3333…      95. 1.3063     
99. No, solving the equation gives the age of 3561 years
Pg. 472

18. 5.482, -3.482     27. 1.242     29. 6 years     44. 5.8% per hour 45. 19.8 hours    49. 9.4     55. 542.31     57. .0794     61. 27,347.9


Probability and Stats

	1.6
	Pg. 42

5. 6. 3/10    7. ½     8. 4/5     9. 4/5      10. 38.4%     11. 15.2%     12. 82.4% 

13. 14/25      14. 61.6%     17. 1/16      18. 3/8      19. ¼      20. ¾     24. 78.9% 25. 35.4%      26. 29.3%     27. 21.1%     28. 16.7%     29. ?     30. 2/3     31. ? 32. 16.7%     33. ?     39. 6.4%     40. A) ¼, ¾ 

	9.7
	Pg. 534

1. ?  2. ?    3. ?    4. ?    5. 1/6     6. 9/34     7. .54     8. 2/x      9. 9/25     10. ? 

11. ?     12. ?   13. 47%     14. ¾     15. 14/15     16. 39%     17. 26/35    18. 1/2 19. ½    20. 5/6    21. 5/6     22. 2/3     23. 5/6     24. 5/6     25. 1     30. ?    

45. a) ¼  b) 1/64 

	6.7
	Pg 348

7.  120     8. 3003    9. A) 24  b) 120    16. 60,480    17. 60     

18. 10,897,286,400    19. 4,151,347,200     20. 12      26. 15     27. 35    

28. 5/18     29. 4368     30. 21     31. 2600     32. 126      39. ?     40. 60    41. ? 42. .000206      46. ?    47. ?    48. ?    49. ?     62. 5040     63. 0     68. A) 2048 

	6.8
	Pg. 355

21. a) 25%   b) 21%   c) 12%      22. 66%     

25. 
[image: image73.wmf]
27. 
[image: image74.wmf]
29. 
[image: image75.wmf]
42. 
[image: image76.wmf]
43. A) 31%  b) 16%   c) 16%     44.  A) 6  b) 84    45. 8C4x4y4       46. 9     

47. 7, 7r6s 

48. 594x^10    49. 80x^2    50. 27x^8     54.  -823,680x8y7       57. 1716x12y14  60.  ?

Pg. 689

15. .2824     16. .8891     17. .1109     22. A) .0914

	12.3
	Pg. 664

2. 338.5, 316, none    4. Q1=12, Q2=15, Q3=19      7. Q1=75, Q2=83, Q3=86 

9. 6, 18      13. A) Q1=6?, Q2=8?, Q3=15?     14. 103     19. A) 18.9, 19   b) no  c) ?   20. ?

	12.4
	Pg. 672

1.5, 2.5    2. 105, 57     3. 704, 461     4. 258.6, 228.3      5. 15.1, 3.5     9.  3

10. 2.8     11. -1.4     12. 20     13. 0     14. -2/8      15. 14.6, 52.3     16. 4.1, 2 

17. 6707, 6738     18. 7715, 7611     19. 2678.9, 2759    20. Iowa   

30. a) union: 641, 279  nonunion: 564, 317  b) 98, 92   c) 3, 2

	12.7
	Pg. 695

1. 43%    2. 39%    3. 43    4. 66%     9. 79.1    10. 56.3    11. 68%   12. 97.5% 13. 50%    14. 47.5%    15. 32%

1. Mean=5’8 (66.82 inches), Median=5’8, Mode=5’8, IQ Range3=, Stand Dev=3.04

2. Mean=5’4, Median=5’4, Mode=5’3, IQ Range=2, Stand Dev=2.22

3. ?

4. a) 68%  b) 2.5%  c) 13.5%  d) 7.5
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